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Time allowed : 3 hours Maximum marks : 80

1. Read the text given below and answer the questions following it
5x2=10

[MaBen oveHb NOOUT xoauTb B TeaTp. Buepa oH 6bin B Teatpe
BaxtaHroBsa. CerogHsa oH pacckasbiBaeT HMHe 0 HOBOW Nbece.

— Tl 66111 BYepa B Teatpe? YUTto Tbl cmoTpen?

— «Baplwasckyo menoguto» B Teatpe BaxtaHrosa.

— O yéwm aTa nbeca?

— O nobeun. lMonbckaa gesywka [eneHa npuexana B Mocksy.
34ecb OHa BCcTpeTuna ctygeHTta BukTopa. Buktop v Nenena nwobut apyr
apyra, Ho...

— A yTto panbLe?

— He xo4y pacckasbiBaTb. Criektaknb o4yeHb xopowwun. CoBeTyro
Tebe nocmoTpeTh ero.

YUTto nobut genatb NaBen v rae oH 6bin BYepa?

O 4yém oH pacckasbiBaeT HuHe?

Yto cmoTpen lNaBen B TeaTtpe?

O yém 6bina nbeca?

Moyemy [MaBen He xo4yeT pacckasbiBaTb BCE O nbece? YTO OH
coseTyeT HuHe?
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2. Write a composition of 100 — 150 words on one of the following topics
1x15=15

1. Mo4vemy A nsy4aro pycckum s3blK
2. Mos ntobumas kHura
3. B vHguinckon gepesHe



3. Put the words given in the brackets in proper form/case 5x2 =10

1
2
3
4
5

. Yuutenb pacckasan (Mbl) 0 (ounbm).
. Y (9) ecTb NATb (KHWUMK).

[py3bsi XOTAT CMOTpeTb (HoBaa 6GubnuoTeka).
Poauntenn mobaTt (Tel) 1 (cectpa).
CtyneHTbl cenyac B (ayautopus), a He B (3an).

4. Insert appropriate form of the verbs of motion, choosing one of the 4

options given in the bracket 5x1=5

1. Kaxgbi geHb 9 (xooun, e3xy, uay, npuweén) Ha paboTy Ha
aBTobycCe.

2. Hawa cectpa XuBET Hepaneko oT ropoga. B npowrnoe
BOCKpeceHbe Mbl (e34unn, exanu, noexanu, npuexanu) K Hemw.

3. Mbl yacto 6blBaem Ha cTaguoHe. Buepa korga Mbl  (Winu,
noexanu, exanu, npuexanu) Tyga, Mbl BCTpeTunn B aBToOyce
HaLlMX TOBapULLEN.

4. 'ge Tbl 6bIN cerogHsa yTpom? A (exan, noexarn, nowen, e3aun) B
LEHTP B KHWXHbIA MarasuH.

5. Buepa korga 4 (npuweén, xoaun, nowen, Wwen) 4omMou, yxe bbirio

10 yacos.

5. Answer the following questions, using the adjectives given below:
KpacHbIn, ronybon, Ninoxon, YNCTbIN, CTapLUni 5x1=5

1

2
3.
4
5

. KakorobpataBbintobute?

KakorouseTtaHebocenyac?
Kakytopy4KyBbIKynumnmn?
KakuneyHerogpysba?

Kakasi y Bac komHaTa goma?

6. Use proper form of «koTopbin» in the blanks. Add prepositions if
necessary 5x1=5



1. Tge pybaluka, .......... Bbl Kynnnun cerogHs?

2. Bot nucbmo, .......... Hanucan 6par.

3. Hactone Tetpagp, .......... cecTpa Hanucana ynpaxHeHue.
4. JTO CTyOEHTHI, .......... Mbl pacckasanu Bam.

5. Y Hac Obin ToBapuL, .......... npuexan n3 Mocksbl.

. Insert the appropriate form of the verbs, given in the brackets 5x1 =5

[

. [NaBen gonro (y41Tb — Bbly4MTb) CrioBa U3 TEKCTA.

2. [pe mbl (BCTpeyaTbCs — BCTPETUTLCS) 3aBTpa?

3. Buepa Bevepom s cMOTpes TeNeBU3op, a OH (MMcaTb — HanMcaThb)
nnMcemo opary.

4. OH (NUTb — BbINUTb) YaLLKy Kode 1 cen 3aHMMaTbCA.

5. Paboune (CTpouTb — NOCTPOUTL) HOBYIO LLKOMY ABa roa.

. Translate the following sentences into English 5x1=5

1. 'me HaxoauTcs BaLl poaHOW ropoa?

2. Ha ypoke Ham Hy>XHO bBbina kapTa.

3. Mebl ¢ pogutensamm NoLwnun rynsarb.

4. CeroagHsa OH HMYEro He caenan.

5. bBbINo 04eHb NHTEPECHO Ha YPOKe CerogHs.

. Translate the following sentences into Russian 5x1=5

Let us go to see a film today.

Why did you go to the doctor?

My sister often writes short stories.

We need good books in the library.

My parents bought me a dictionary on my birthday.
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10. Answer the questions, based on the texts (given in the brackets)
from your text book 5x3=15

1.

Mouemy Mapua MuxannoBHa gymaeT, Y4TO OOUH OCOBbLIN YpOK
CaMbIW MHTEPECHbIN B €€ XN3HN? («YYEHUKR)

Kak goexan lNeta go Cnbupun? («Kak mbl locen cumtanmny)
[Moyemy BaHs Hanucan cBoé umsa Ha bepése? XopoLwlo fnn ato?
(«ma Ha cHery»)

Mouemy Oblk genan Bcé, 4to xoTen Anéwa («Kak s e3gun Ha
BbICTaBKY»)

[Moyuemy TaHa TokapoBa C narnou noexann Ha Kaskas
HaBcerga? (« TpuHaguaTb NeT»)



